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EREAIEDE FJ20SUS(L=300) 20 /N
GC20 40 &
EDit
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% 7 ] ¥ 8 B i i)
wEREIE
SGP-HVA20 = - ERT 7.0 m
SGP-HVA20 =05} 9.0 m
HHERR 1.0 X
EREAIESE FJ20SUS(L=300) 2.0 A
ARG mw 165 2.0 =

FDEt
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% %fr\ ] B8 B i ]
EHRREREIS
(B ER#)
ERMSBRRETIE 1.0 2
AEKEREIE 1.0 2
AEERETE 1.0 2
FOMEETE 1.0 2
FLOERETSE 1.0 =
EEWMEE 1.0 2
FERE 1.0 2
AEEIR TS 1.0 2
(BE=R#fIET
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% %fr\ ] B8 B i ]

ERHERETIS

(h—IL R #%)

ERMSBRRETIE 1.0 2

AEKEREIE 1.0 2

T—ILREIE 19.0 m

EEWMEE 1.0 2

FroNn—H=E 1.0 =X

FEERE 1.0 2

AEEIR TS 1.0 2

(R—ILR#HIE

GREt
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% i = B i & &
H ®#BEREREISE

FEFREREREISE 1.0 Eae

BERIEREIS 1.0 =

B L ERLnE 1.0 =

HDEt
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£ (a3 i B E B i %8 fis

EVERHETSE

RERTEE 10 K
T-ETE 10 =K
HBEHIE 10 =K
avy)—hBRIE 10 =K
HEIE 10 =K
€RBIE 1.0 =X
BEIE 10 K
RNETE 10 K
EVIZE 10 =
V@ &
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£ E i3] B E =R v i ) fis

REETEE

=HL RER R 5 17.1 m
BHAHAARE (FRETAHKX) H=10.1m 181.0 m
B A R 15 H=5m 12.0 m
B3I B 15 i 51| 10.1 m
BIRLERA ST 30.2 m

1M &t
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£ E i3] M = =R v i ) fis
T-hETE
Ry 25miEE 34.2 m
HERL WYY LA 15.9 m
Tt a4y o LAS ] 18.3 m
BREE BERA 20 m
2 M it
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HHITE

Bk D22 558.0 kg
Bk D19 425.0 kg
Bk D13 704.0 kg
0T #EST 1687.0 kg
ERE 1687.0 ke

3M it
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£ E i3] = B E B A i £ fis

Vo) —h-BBRIE

ETavy)—+k Fc-18 0.7 m
HEEEaro)—k Fe-21(Tv¥ary)—hri) 12.1 m
TRarsy—k BR.#RE 60 @150 # 14.9 m
ITERFM 12.8 m
RO TEERH 3.0 =]
TEEHRER PEE I Eas 18.1 m

4 O &t

62




£ L7 ] %2 B4 i ) &

HEIE

A-200x200x12 BCR295 2172.0 kg
O-125X125X12 STKR400 6350 kg
H—250x125X6X9 $S400 3540 kg
H—200x100x5.5X8 $S400 1570 ke
H—125X125X6.5X9 $S400 1770 ke
H—294X200X8X 12 $S400 8710 kg
PL—16 SN490C 1250 ke
PL-12 EVER{ 77X F-8T SS400 166.0 ke
PL—9 SS400 2830 kg
PL—6 $S400 370 ke
L-7x100x100 $S400 1920 ke
[-100x50x5 $S400 180 kg
a1k t-1.6 $S400 430 kg
QLT v 99-50-12-Z JIS 373.0 ke
HTB M20x60 S10T 1920  #8
HTB M20x55 S10T 480 #
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% a3 i B E B i %8 fis
HTB M16x45 s10T 1920 #8
HTB M16x40 s10T 92.0 #8
7 27— )L EM16xL=450 SS400 4.0 x
IHMmIE 52300 kg
BRER—RZET 5200.0 kg
FILHE 52300 ke
EHRE 56030 kg
BAE 56030 kg
BAHERE 13t5 74— 10 K
HiEmIE 5603.0 ke
HRRE 10 =K
E-EREREER 10 K
i KA 400 m

5®M &t
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% FR ] % = B 41 fill ) i

&BISE

TILIHER W-300 14.2 m
ATULZBEXPY W-100F8 28 m
TILEHFR H-1100 30 m
TILIEE 1.0 APfT
ATULARBZRO—T FH EVAI 10 K
RTFULRBEZ2O—T  FHE H A Ol 10 K
EfRE 10 K
FrisTE 10 =
REE 10 K
EERAE 10 K

6 M it
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% a3 i E:3 B E B i %8 fis

BEIE

AD-1F5IENVH—HERT 47 WA74M4947° W1700 x H200 1.0 4R
T (FETRAN - ) L=5790 1.0 R
TILIEE#HE t=20 D=250 L=5790 1.0 4R
TILISEERR t=20 D=250 L=5790 1.0 /R
1 T570-01-023 (RTUAT7742 L=600) 1.0 4R
BE~7 A% (UIDG2D-1) 1.0 4R
HEtE 10 =
BEFEEREE 10 K
BEMBNERE 10 =
FREERUVERIRTE 10 =
EfRE 10 K
RAFREEEE 1.0 =R
EERAE 10 =R
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£ R ] E:3 BE B i * % ]
AD-2KBIENVH—HERT W980 x H2000 20 4FR
TILIRAO# L=5070 20 4FR
4 T570-01-023 (RTAT742 L=600) 20 4FR
B®)~7 FfE (UIDG2D-1) 20 4FR
AW-1 F=TIRYHLE W600 x H1200 40  4FR
TILET T )L15%20 L=3720 40  4FR
HERARYG (M) th=55L#m L=670 40  ‘rPAr
#%EARYG (M) rh=556t#m L=2540 40  ‘rPAr
#%EARYG (M) th=556t#m L=670 40  ‘rPAr
FAEHEWS21 8 (& Fktis) W600 x H1200 40  4FR
TR E 1.0 =
EiRE 10 =R
REE 10 i
EERAE 1.0 =
1D &t
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£ R ] E:3 B E B4 i ] ]

MNETE

LAY ERERK X2 16.0 m
ALCHR t-100 #tEEOv¥oJ ik 133.0 m
Fhk4E B EME W9l 133.0 m
BEHREETH W-65 34.8 m
BEHEXATH EiRY 20.2 m
RELFILEZT BUBT 255 m
KREILZILRIESIE 27.0 m
ERE=ZILEKY—b+ t-2.3 255 m
BOABENIL ) LIREY t-8 34.8 m
{£$tPB t-9.5 20.2 m
E=/LmhK H-100 182 m
ay 1gE 25.6 m
AEPZY) 348 m

8 M &t
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% b i3] = = B {1 {i 28 1%
EVIZE
FEAFALHETHARX(1C-2BC) D11 AEY
EVA{K 750kg 45m/min 1.0 =
P13 01400 x 8171350 X 5 E2300mm
IEE2{=1k (1-2F%)
9IM &
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RIS
BEIXEE 10 =
BRIEE 10 =
B EWRE 10 =
FEHLnE 10 =
vV D &t
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% a3 i B E B i %8 fis

BEIEE

X# R—FEBE(—ER) 2384 m
X# R—FERE(CER) 462.1 m
X AEERE 7.7 m
XH# NRUYTHE 104 m
XH#F THUEE N 718.6 m
MEE CBRIE 1050  mi
ME: RCHIE 120 m
5} B¢ RCHE hyB—An# 36 m
sAEE AL ILEE T HAf $ 36 m
SAZVTRE 1% 89 m
rLIT—REE 264 m
Bttt 2/LBE 1647 m
Bt /DB E 4972 m
THIEILZILEE —EEILZILALLE 8238 m
AHEEHE Best 502 m
BEE Bt 55, m
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TIVEHERRE et 5.0 m
F7#E 2E P ERL 88 m
AZRBE 172 m
mARYVIrMAREE 326.0 m
EHEERE 214 m
K EDIVERE 543.0 m
K A—~yhEE 802 m
K 21IVEE 363 m
R REFEHE 1004 m
BAIE 345
REHE 1004 m
THIEILZILEE 579.4 m
TRRED V) —MEE NYFEAYVE— AN 19 m
TJLRVMAKEE 38 m
ATULARBERE 1.0 &R
RYNREE 1.0 &P
SE E#EaL ) —MEE BEsS A EERAR T OvS 300X 300 6EATIEEE 10 =K
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£ g1 ] B = =R v il & % w =
S BARBE 21.0 m
SN2 T REE A9va71vA H-1200 (BUSELA) AvYa710& H-1500 19.8 m
SMER ZEERAMEREE 1900 x 3200 H-200 6.1 m

1M &t
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BETEE
P BERHT 10 =
2 M it
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Bt B E

avy)—hE 10 =K
ALT 10 =
PSS B 1.0 =
R 10 =
B’IZRAFVIEE 10 K
HSRLTHE 10 K
AREHEEREY N-N4E 10 =
AREHEEREY BEITSRAFVIHE 10 =

3 M &t
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BEM L5 &

avy)—hE 52.3 m
A< 11.1 m
AF A 63 m
R 08 m
BITSRFvI4E 55 m
HSRLTHE 23 m
BMEREXEREY N N~ 122 m
AREHEEREY BEITSRAFVIHE 13 m

4 @ &
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£ E i3] = M = =R v ] & % " *

HBRHBITSE

HEREE REEA EX5. HBHEKEFEST 1 =
e H—KITx>2 X H-1800 20.6 m
{REL\PIEE ~OXS—k W-6000 H-1800 1 Er
RBHEE 5| H

NS Tk
LB DOEERIE BIEERT 547 1 =
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